EARAZROREIERT — 2 N—XBISY —F 20155F986H (H) 2ME4LIE6H

PRl S8 E8 1000ATF ¥5%3®E (BE) (&) B (xwlw | lmEmml - |5 ) 0w 8
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N ~ aIEF 144, -8-6- . . AHREE (EX)
i gl A 1vamRIbE o4 =l 1(4_4)4 9-8-6-3 |36.9|101.7| 4 (4550) e
R:d—IKR7Ya—=b B:LFY PV AN
S T, B 4 | HARMR— 1:44.7 7-7-9-4 | 37.0| 98.9 | 12 | 442 |EHZE (RR)
2|8|13| A=Y TNT 8.0 (1 3/ (p |BEEE
LIANRZATNGT B:A-—rv LT q— RS
NI 4 3 | HlgRsL 1:44.7 11-10-9-10 | 36.9 | 98.9 | 2 446 | MAE (ER)
357 3Y/" [B] 54.0 (7E) o | 0w
L:hxex) B> bhIURTR ZINGT 7 —L
3 4 3 | BEXE 1:44.8 2-2-2-2 | 37.7| 98.2 | 1 502 | FHLUBA (=)
4 5 N Fo—1) — 54.0 (3/4) 0 INRRER
R:TITRAFTAIL B:anN/Zx—4 YA T8
= R o3 | AEHN 1:44.9 12-12-12-9 | 36.9 | 97.1 | 11 490 | EEEZ (EH)
5|56/ A7~ kA=A 54.0 (172) o) | AtERE
RTUHARICE B/ uTq T K v =M -
S 4 3 | BERERA 1:45.2 5-4-6-4 | 37.7| 94.5 | 3 452 | MAKETE (ER)
61812 EIL PAN—X 54.0 @ © é%Ei
R:F4—T2AHhA B:/—TNIg—FI TS
o s % ZHER :45. -13-13- . . E A E )
; g NA—F =Y > 5| =@ 1(;/54)4 13-13-13-13| 37.1 | 92.4 | 7 (5_020) Emﬁz—(
RFAT-IE BT RIFY— 55 Rikie
Q 4 4 | BAKHE— 1:45.5 9-10-9-10 | 87.7 | 91.7 | 5 434 | BRERR (RR)
gl1]q1 | N7 F-L 55.0 1/2) 4o) | @R O—F£-2557
R:FA—TA>NI N B:T7 T —0—X TATAT7— L4
— N - LIUN 145. -8-6- . . BERE (E#
9 4| Fr—TIZATCE # 5 =l 1(;5t§3 7-8-6-8 | 38.0] 91.9 | 9 422;1 pREL
R:VZXB—3IZZ4— B: by a4y b BO%E
S i 4 3 | ENPAF 1:45.8 5-4-5-10 | 38.5| 89.6 | 6 438 | EHREE (EX)
1o o| *T>¥avrds 52.0 (1 3/4) o) | AR
L:2ZXh=K BHTA 55 Rk
= > 5 | EBAZ 1:45.8 3-3-1-1 [38.9| 89.9 | 8 564 | FRHERE (EXR)
1117111 P> Lxs— [B] 57.0 () t12) | ) Xray RTr—A
R:4—I>TlLL B:R&2—XL—FK (B) #A3—-RKL—va>aEr7r
. 5 o3 | ISHEFER 1:46.1 4-4-2-4 |38.9| 87.3 | 10 | 488 |FIIAK (k)
EE 2 k—=t>7—%X bk 54.0 (1 3/4) (~22) Bl
VLR YIYRIR BE-—FTIRZ HREM IXFT7—L
# 3 | AlTR 1:46.5 1-1-2-4 [39.3| 84.2 | 13 | 468 |FNEHEE (i)
13(7[10) / —AE—RH~— 54.0 2 1/2) © | B 2E=KTr—4
RiZoY—rb—O— B:STAXAHXT BB RS
@ 71 L
) 49.8-37.5
NA> 24 LA | 6.9-10.8-12.2-12.8-11.9-12.3-12.4-12.5-12.6
@ 1—F—@&BIEf
13=7r= 10,5,11,2(9,12) (4,13) (1,8) 7-6-3
20—+ — (5,%10)11(2,9,12)13(4,8) (1,7)=6=3
30—7+— 11(2,5,10)9(4,8,12) (1,7,13)6,3
43— — 11,5,8(2,10,12,13)4,6(1,7,9)3
[ RN
B OB 8 650 714K 8-13 6,180 e & 6-8 940M &R 7-8-13 33,1104
8 B 8 200 7-8 640 B & 8-13 20,310M 3B 8-13-7 229,800M
13 1,400 7-13 5,570 B H 8-13 34,240
7 210H

ABICOVWTRDTEEERROODE. TR LIV,



